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1
1.1
1.1.1
@
q=10.0
LR TORAUA AR A A A R
H| 1. 00
2. 00 < o e
H 3. 80
H 6. 60
~8. 00
o < 1000 -10. 00/ | ~10. 00

FORUMS8



D

2)

G.L.(m) 0.000
G.L.(m) | -10.000
G.L.(M) |  -6.600
G.L.(m) |  -2.000
G.L.(m) | -10.000
q KN/ 10.00
q kN/m? 0.00
No \
3 3 ( ) ( )
G.L.(m) | G.L.(m) N/ | (k)
1] 0.000| -2.000 10.0 14.0 5.0 0.0/| 0.0
2| -2.000| -8.000 10.0 14.0 50| 00| 0.0
3| -8.000 | -10.000 50.0 20.0 10| 40.0| 2000
4| -10.000 | -20.000 36.0 18.0 9.0/ o0.0/| 0.0
5| -20.000 | -30.000 50.0 19.0 10.0 | 40.0| 20.0
o ‘ @ | ako
oy | gy | oe.L.qmy | (KVm) | (kN
1 60.0 0.0 0.000| 120.0| 28000
2 60.0 0.0 0.000| 120.0| 28000
3 0.0 0.0| -8.000 0.0 | 140000
4| 100.0 0.0 | -10.000 | 200.0| 100800
5 0.0 0.0 | -20.000 0.0 | 140000
No
\ ()| )
G.L.(m) | G.L.(m) N/ | (k)
1] -10.000 | -20.000 36.0 18.0 9.0/ o0.0| 0.0
2| -20.000 | -30.000 50.0 19.0 10.0 | 40.0| 20.0
o ‘ @ | ak
Gy | gy | oe.L.qmy | (KVm) | (KN
1] 100.0 0.0 | -10.000 | 200.0 | 100800
2 0.0 0.0 | -20.000 0.0 | 140000

FORUMS8




@
D

G.

L.-10.000)m

Z(m)
D(m)

1.200

0.920(G.
1.104(G.

L.-10.920)m
L.-11.104)m

Y(m)

0.463(G.

L.-10.463)m

(m

3.000(G.

L.-13.000)m

(m

6.000(G.

L.-16.000)m

e}

16.000m

210.000 _

15. 30

46. 00

4. 600

15. 30
17. 40

6. 00
60. 00

[. 40

114. 79 ﬁ) 00
19. 57 80. 00

/

o

80. 00

—

§,$ = 28028

0. 463

¢ 126.9¢

0L 930

(G.L.-10.920)m

Ma Mw(kN.m/m )
Mp(kN.m/m )

723.53
725.53

Pa(kN/m )
Pp(kN/m )

331.47
187.81

Mp  Ma Mw

1.0

Y m

0.463

Mp
Y Mp Pp

2. 000

FORUMS8




®
D

G.L.m (G.L. 0.000)m
G.L.m G.L. 0.000)m
G.L.m (6.L.-10.000)m
kN/m? 8.04
q vy m 1.243(G.L. 1.243)m
m | 10.000
y ______
a H m 10.000
H R 1.000
c m | 10.463(G.L.-10.463)m
c |- 4.000
p a c vy KN/m? 32.18
[3¢]
h 5
0. 000) 0000
8. 00 S
\14.44 =
14. 44 S
\20.87 e o
20. 87 =
Lo
D~
32,18/ \ 18, 60 —
32, 18] \18.00 =
[
[l
e
oi
32. 18 46. 00
32. 18 \16. 00 S
32. 18 \ 60. 00 =
32. 18 160. 00 -
\ S
\\ o~
=20. 000 3 32. 18 \ 80. 00 e
7= 20100/ ={ 32, 18 397780. 00 <
() [ ()
m (G.L. -6.600)m
m (G.L.-10.463)m
m 3.863
Mmax kN.m/m 175.81
m 1.963(G.L. -8.563)m
Smax KN/m 172.71
m 0.000(G.L. -6.600)m
RA kN/m 172.71
RB kN/m 150.89
o max m 0.0078
m 1.932(G.L. -8.532)m

FORUMS8




3)

3
m (G.L. -3.800)m
m G.L. -6.600)m
m 2.800
Mmax kN.m/m 62.98
m 1.451(G.L. -5.251)m
Smax kN/m 96.38
m 2.800(G.L. -6.600)m
RA kN/m 83.31
RB kN/m 96.38
d max m 0.0013
m 1.120(G.L. -4.920)m
2
m (G.L. -1.000)m
m (G.L. -3.800)m
m 2.800
Mmax kN.m/m 28.13
m 1.566(G.L. -2.566)m
Smax kN/m 49.75
m 2.800(G.L. -3.800)m
RA kN/m 32.09
RB kN/m 49.75
d max m 0.0007
m 1.400(G.L. -2.400)m
01 02 da
o)
o1
_ 5ew-lL
01 = 3g1-Fla
02
o2 R K
o2 o2 2
da
1 2

FORUMS8




G.L.(m) -1.000
Y m 0.463
12 G.L.(m) -10.232
L m 9.232
P kN/m 608.82
w P L kN/m? 65.950
E x 10°kN/m’ 2.000
51 | m'/m 0.00038600
a | - 0.450
o1 m 0.1795
kH kN/m® 24220
B m 1.000
A BxY m 0.4631
o2 K KkHx A kN/m? 11217
R wxL 2 kN/m 304.41
o2 R K m 0.0271
02 o2 m 0.0136
) 01 &2 m 0.1931
1 2 G.L.(m) -5.616
da m 0.300
————— o
P
No h p P
6L | m) | ke KN/
1 -1.000 | 1.000 14.44 17.65
-2.000 20.87
2 -2.000 | 1.757 20.87 62.04
-3.757 49.75
3 -3.757 | 4.243 49.75 301.09
-8.000 92.18
4 -8.000 | 2.000 92.18 204.35
-10.000 112.18
5| -10.000 | 0.232 112.18 23.68
-10.232 92.00
2z 608.82
_ BH —a4
kH = nkHo ( 0.3 )
n 1.00
n 1
kHo 30cm
kHo = 0'13 aEo
Eo (kN/m?)
a
No h a Eo kHo kH kHx h
G.L.(m) | G.L.(m) m kN/m? kN/m? kN/m? KN/m?
1| -10.000 | -10.463 | 0.463 100800 336000 24220 11217
z 0.463 11217
kH X kHx h >h 24220 kN/m®

FORUMS8



BH

10.0(m)

FORUMS8




©)
D

2)

(ap) o
3 3
= 0. 00000 0,000
S 3. 00 S
oy 14. 44 =
S 4. 44 =
= \ 20. 87 =
= 20. 87 .
LO LO
: — :
Ml ap] Ml ap]
U F 32. 18 13. 50 S
= : : =
= =1 32,18 8. 00 S
[} [}
o [}
Q Q
o o
32.18 46. 00
= 32. 18 6. 00 3
<t <t
- 32.18 60. 00 -
- 32.18 0. 00 -
e} e}
[} [}
0. 000 o
LRS- 32.18 80. 00
cit___
No G.L. (m) kN/m
G.L. (m) | G.L. (m)
1| -1.000| 1.243| -3.800 98.03
2| -3.800| -3.800| -6.600 179.69
3| -6.600 | -6.600| -10.000 323.60
No h pw
GL(m) pp pa . p
(m KN/ KN/ KN/m KN/
1| 1.243| 1.243 0.00 0.00 0.00 0.00
0000 0.00 8.00 0.00 800
2| 0.000 | 1.000 0.00 8.00 0.00 8.00
~1.000 0.00 14.44 0.00 14.44
3| -1.000 | 1.000 0.00 14.44 0.00 14.44
~2.000 0.00 20.87 0.00 20.87
4| -2.000 | 1.757 0.00 20.87 0.00 20.87
-3.757 0.00 32.18 17.57 49.75
5| -3.757 | 0.043 0.00 32.18 17.57 49.75
~3.800 0.00 32.18 18.00 50.18
6| -3.800 | 2.800 0.00 32.18 18.00 50.18
~6.600 0.00 32.18 46.00 78.18
7| -6.600 | 1.400 0.00 32.18 46.00 78.18
-8.000 0.00 32.18 60.00 92.18
8| -8.000 | 2.000 0.00 32.18 60.00 92.18
~10.000 0.00 32.18 80.00 112.18
9| -10.000 | 0.463 0.00 0.00 0.00 0.00
-10.463 0.00 0.00 0.00 0.00
10 | -10.463 | 0.457 0.00 0.00 0.00 0.00
-10.920 0.00 0.00 0.00 0.00

FORUMS8




110 ]
P pa pw pp
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1.1.2

v
SY295

>Q N

x 10°(mm’/m)

x 10°(mm’/m)

2270
0.600
242 .50

M
x 10°(N.mm/m )

N
x 10°(N/m )

S
x 10°(N/m )

Max 217.48 0.00 172.71
o = OLM. 7 + I/:I = osa
o (N/mm?)
oa (N/mm?)
VA
A
o o sa
N/mm? N/mm?
Max 159.7 270.0 o
- S <
T — A = Ta
T (N/mm?®)
T a: (N/mm?)
T Ta
N/mm? N/mm?
Max 7.1 125.0 o

FORUMS8
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2
2.1
2.1.1
1
v
SY295
Z x 10°(mm’/m) 2270
B R 0.600
A x 10°(mm’*/m) 242.50
2
M N S
x 10°(N.mm/m ) x 10°(N/m ) x 10°(N/m )
Max 96.97 0.00 109.83
3
o = OLM_ 7 + I/:I = osa
o (N/mm?)
oa (N/mm?)
Z
A
o o sa
N/mm? N/mm?
Max 71.2 270.0 o
4
- S =
T — A = Ta
T (N/mm?®)
T a: (N/mm?)
1 Ta
N/mm? N/mm?
Max 4.5 125.0 o

FORUMS8
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2.1.2
M1
1) ( )
Yo oL 5 R
KN/m | kN/m/m KN/m | kN/m/m i kN/m
1| 0.000 1.41 ) [P U YY) —
2| -0.500 4.08 ) [ D U R
3| -1.000 5.76 ) [ DU U 5,91 | —mommeme
4| -1.500 7.44 ) SR R 0,60 | —mmmmmme
5| -2.000 9.13 0 5.53 1682 | -3.54 5.9
6| -2.500 10.87 0 12.68 3364 | -2.51 8.5
71 -3.000 12.62 0 14.83 3364 |  -1.67 5.6
8| -3.500 11.36 0 13.41 2601 |  -1.04 2.8
9| -3.800 7.67 0 9.08 1682 | -0.77 1.3
10| -4.000 11.47 0 13.62 2355 | -0.62 1.5
11| -4.500 26.19 | 26911 16.85 2601 |  -0.37 11.0
12| -4.800 17.07 | 16820 11.23 1682 |  -0.29 5.3
13| -5.000 24.80 | 23548 16.63 2355 | -0.25 6.5
14| -5.500 37.25 | 33639 25.58 3364 | -0.22 8.0
15|  -6.000 30.40 | 33639 27.73 3364 | -0.22 8.2
16| -6.500 24,67 | 20184 17.67 2018 | -0.23 5.1
17| -6.600 21.15 | 16820 15.32 1682 | -0.23 43
18| -7.000 39.43 | 30275 28.92 3028 | -0.23 7.6
19| -7.500 27.25 | 20184 20.25 2018 | -0.21 4.6
20| -7.600 23.30 | 16820 17.47 1682 | -0.20 3.7
21| -8.000 30.18 0 31.93 9755 | -0.17 1.6
22| -8.500 38.78 0 37.68 | 16820 | -0.13 2.1
23| -9.000 41.75 0 41.07 | 16820 | -0.10 1.6
24 | -9.500 44.71 0 44.47 | 16820 |  -0.08 1.3
25 | -10.000 57.30 | 144649 48.16 | 14465 |  -0.07 11.2
26 | -10.500 63.05 | 121102 51.38 | 12110 |  -0.07 9.9
27 | -11.000 65.81 | 121102 54.14 | 12110 |  -0.08 10.7
28 | -11.500 68.58 | 121102 56.01 | 12110 |  -0.09 11.4
29 | -12.000 71.34 | 121102 50.67 | 12110 |  -0.09 11.7
30| -12.500 74.11 | 121102 62.44 | 12110 |  -0.09 11.8
31| -13.000 76.87 | 121102 65.20 | 12110 |  -0.09 11.8
32| -13.500 79.64 | 121102 67.96 | 12110 | -0.09 11.7
33 | -14.000 82.40 | 121102 70.73 | 12110 |  -0.09 11.7
34| -14.500 85.16 | 121102 73.49 | 12110 |  -0.09 11.7
35| -15.000 87.93 | 121102 76.26 | 12110 |  -0.09 11.7
36| -15.500 90.60 | 121102 79.02 | 12110 |  -0.09 11.7
37| -16.000 46.38 | 60551 40.55 6055 |  -0.09 5.8

FORUMS8
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2)

Mmax = 3.0kN.m/m ( G.L. -7.00m) Mmin = -29.6kN_.m/m ( G.L. -3.00m)

Smax = 14 .6kN/m  ( G.L. -4.50m) Smin = -18.7kN/m  ( G.L. -1.50m)

0 max= = -------—- mm ( G.L.-———-—- m) o min= -8.43mm ( G.L. 0.00m)

kN.m/m kN/m mm
No GL
5 p 5n 5 | Kwm

1 0.000 | —-----—- 0.0 | ——=————- -1.4 0.00 -8.43 B 0 ) p—
2| -0.500 -0.7 -0.7 -1.4 -5.5 0.00 -7.17 By Ay ) QS
3| -1.000 -3.5 -3.5 -5.5 -11.3 0.00 -5.91 -5.91 | ———-mmm-
4| -1.500 -9.1 -9.1 -11.3 -18.7 0.00 -4.69 -4.69 | ———-m——-
5| -2.000 -18.4 -18.4 -18.7 -16.3 0.00 -3.54 -3.54 | —mmommee
6 -2.500 -26.6 -26.6 -16.3 -6.1 0.00 -2.51 -2.51 | ~——————-
7 -3.000 -29.6 -29.6 -6.1 1.8 0.00 -1.67 -1.67 | -~—-=——---
8| -3.500 -28.7 -28.7 1.8 6.6 0.00 -1.04 -1.04 | ——m-mmm-
9| -3.800 -26.8 -26.8 6.6 9.3 0.00 -0.77 -0.77 | ——==———-
10 | -4.000 -24.9 -24.9 9.3 12.9 0.00 -0.62 -0.62 | ———-———-
11| -4.500 -18.4 -18.4 12.9 14.6 0.00 -0.37 < Y E—
12 -4.800 -14.1 -14.1 14.6 14.0 0.00 -0.29 -0.29 | -~——————-
13 -5.000 -11.3 -11.3 14.0 12.4 0.00 -0.25 -0.25 | -—=——-—-
14 | -5.500 -5.1 -5.1 12.4 8.8 0.00 -0.22 -0.22 | ——m—mmm-
15| -6.000 -0.7 -0.7 8.8 5.3 0.00 -0.22 -0.22 | —mmmmmm-
16 | -6.500 2.0 2.0 5.3 3.4 0.00 -0.23 S, X I ——
17 -6.600 2.3 2.3 3.4 1.8 0.00 -0.23 -0.23 | -~———-—-
18 -7.000 3.0 3.0 1.8 -1.1 0.00 -0.23 -0.23 | -~——————-
19 -7.500 2.5 2.5 -1.1 -3.5 0.00 -0.21 -0.21 | -—=——---
20| -7.600 2.2 2.2 -3.5 -5.6 0.00 -0.20 -0.20 | ——-———--
21| -8.000 -0.1 -0.1 -5.6 -2.3 0.00 -0.17 -0.17 | ——-———--
22 | -8.500 -1.2 -1.2 -2.3 -1.2 0.00 -0.13 -0.13 | ———-mm—-
23 -9.000 -1.8 -1.8 -1.2 -0.3 0.00 -0.10 -0.10 | -~——————-
24 -9.500 -1.9 -1.9 -0.3 0.8 0.00 -0.08 -0.08 | -—=---——-
25| -10.000 -1.6 -1.6 0.8 2.7 0.00 -0.07 -0.07 | =—==——--
26 | -10.500 -0.2 -0.2 2.7 1.0 0.00 -0.07 -0.07 | ———=———-
27 | -11.000 0.3 0.3 1.0 0.1 0.00 -0.08 -0.08 | ———-———-
28 | -11.500 0.3 0.3 0.1 -0.2 0.00 -0.09 -0.09 | ———-———-
29 | -12.000 0.2 0.2 -0.2 -0.2 0.00 -0.09 -0.09 | -~——————-
30 | -12.500 0.1 0.1 -0.2 -0.2 0.00 -0.09 -0.09 | -—--——---
31| -13.000 0.0 0.0 -0.2 -0.1 0.00 -0.09 -0.09 | ——--——--
32| -13.500 0.0 0.0 -0.1 0.0 0.00 -0.09 -0.09 | ———-———-
33| -14.000 0.0 0.0 0.0 0.0 0.00 -0.09 -0.09 | ———-———-
34| -14.500 0.0 0.0 0.0 0.0 0.00 -0.09 -0.09 | -~——————-
35| -15.000 0.0 0.0 0.0 0.0 0.00 -0.09 -0.09 | -~——--——-
36 | -15.500 0.0 0.0 0.0 0.0 0.00 -0.09 -0.09 | -—-=——---
37 | -16.000 0.0 | —=—-———- 0.0 | —=——-m—- 0.00 -0.09 -0.09 | ——--——--
1
2 )
3 (3 ptd n)

FORUMS8
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X 10" ~1 mm
0.0 100

L.

f

N

-100

0-8.43

AW X107-1 kN
0.0 200

—-200

300

T— AL FX10"-1 kN.m
-300 0.0

LILLLLLL

LI LT

-2.0

LY

22

kR

WITTTT]

o
i

f

[)

©
[

o
7

29.63
/

AN

A

A
N

VA |

EANe A%
AN
“ANN AN

0.0

-16.0

A 17

T— A M
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- 15 -

(2)2
1 ( )
" oL 5 R
KN/m | KN/m/m KN/m | kN/m/m i kN/m
1| 0.000 1.33 ) [P D D 5.51 | —cmmmmee
2| -0.500 3.84 ) [P DU DU 6,00 | —-mmmmm
3| -1.000 5.42 0 _366.44 | 61960 |  -6.67 471
2| -1.500 7.01 ) [ e T
5| -2.000 8.59 0 | commmmm | oo | o 773 | e
6| -2.500 10.17 ) [ DU DU 8,00 | ——mmmmmv
7| 30000 11.75 ) [P DU DU 7099 | cmmeee
8| -3.500 10.54 ) [P DU DU 7066 | —mmmmme
9| -3.800 7.10 3 [P D DU 7030 | —mmmmee
10| -4.000 10.61 ) [P DU DU 701 | —mmmmee
11| -4.500 13.07 ) [ DU DU 3
12 | -4.800 8.69 0 3.32 673 |  -5.46 3.7
13| -5.000 12.89 0 12.47 2355 | -5.02 11.8
14| 5,500 19.90 0 20.13 3364 | -3.92 13.2
15 | -6.000 21.65 0 22.85 3364 | -2.93 9.8
16| -6.500 13.83 0 15.02 2018 | -2.10 4.2
17 | -6.600 12.00 0 13.27 1682 | -1.96 3.3
18| -7.000 22.71 0 25.60 3028 | -1.47 45
19| -7.500 15.93 0 18.29 2018 | -1.04 2.1
20| -7.600 31.03 | 16820 15.99 1682 |  -0.98 18.1
21| -8.000 29.59 0 22.85 9755 | -0.78 7.6
22 | -8.500 38.78 0 21.68 | 16820 |  -0.62 1005
23| -9.000 41.75 0 25.07 | 16820 |  -0.52 8.7
24| -9.500 44.71 0 28.47 | 16820 |  -0.43 7.2
25 | -10.000 43.08 0 40,61 | 14465 | -0.34 4.9
26 | -10.500 82.91 | 121102 52.84 | 12110 | -0.27 36.2
27 | -11.000 86.41 | 121102 56.35 | 12110 |  -0.23 31.0
28 | -11.500 89.92 | 121102 50.85 | 12110 |  -0.22 20.1
29 | -12.000 93.42 | 121102 63.36 | 12110 | -0.22 28.8
30 | -12.500 96.93 | 121102 66.86 | 12110 |  -0.22 29.2
31| -13.000 100.43 | 121102 70.37 | 12110 | -0.22 20.7
32| -13.500 103.94 | 121102 73.87 | 12110 |  -0.22 30.0
33| -14.000 107.45 | 121102 77.38 | 12110 |  -0.23 30.1
34| -14.500 110.95 | 121102 80.88 | 12110 |  -0.23 30.1
35| -15.000 114.46 | 121102 84.39 | 12110 | -0.23 30.1
36 | -15.500 117.96 | 121102 87.80 | 12110 | -0.23 30.1
37| -16.000 60.29 | 60551 45.26 6055 | -0.23 15.0

FORUMS8
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2)

Mmax = 45 .5kN.m/m ( G.L. -3.00m) Mmin = -28.7kN.m/m ( G.L. -6.60m)

Smax = 36.5kN/m  ( G.L. -1.00m) Smin = -44.1kN/m  ( G.L. -4.80m)

0 max= = -------—- mm ( G.L.-======- m) o min= -8.00mm ( G.L. -2.50m)

kN.m/m kN/m mm
No GL
5 p 5n 5 | Kwm

1 0.000 | -------- 0.0 | —~—==———- -1.3 -8.43 2.91 =551 | -—=——-—-
2| -0.500 -0.7 -0.7 -1.3 -5.2 -7.17 1.08 -6.09 | —————---
3 -1.000 -3.2 -3.2 -5.2 36.5 -5.91 -0.76 -6.67 47.1
4| -1.500 15.0 15.0 36.5 29.5 -4.69 -2.57 -7.26 | ———mmm—-
5| -2.000 29.7 29.7 29.5 20.9 -3.54 -4.20 =773 | —memeee
6 -2.500 40.2 40.2 20.9 10.7 -2.51 -5.49 -8.00 | -~——————-
7 -3.000 45.5 45.5 10.7 -1.0 -1.67 -6.32 -7.99 | ——=——---
8| -3.500 45.0 45.0 -1.0 -11.6 -1.04 -6.61 -7.66 | ——————--
9| -3.800 41.5 41.5 -11.6 -18.7 -0.77 -6.54 -7.30 | ~—————--
10 | -4.000 37.8 37.8 -18.7 -29.3 -0.62 -6.39 =7.01 | ———-mm—-
11| -4.500 23.2 23.2 -29.3 -42.4 -0.37 -5.72 -6.09 | ——--——--
12 -4.800 10.5 10.5 -42.4 -44.1 -0.29 -5.17 -5.46 | ---——---
13 -5.000 1.6 1.6 -44.1 -32.7 -0.25 -4.76 -5.02 | -~—=——--—-
14 -5.500 -14.7 -14.7 -32.7 -19.2 -0.22 -3.71 -3.92 | ——=——-—-
15 -6.000 -24.3 -24.3 -19.2 -8.2 -0.22 -2.71 -2.93 | ——=——-—-
16 | -6.500 -28.4 -28.4 -8.2 -2.8 -0.23 -1.87 T [
17 -6.600 -28.7 -28.7 -2.8 1.8 -0.23 -1.73 -1.96 | ~———--——-
18 -7.000 -28.0 -28.0 1.8 9.1 -0.23 -1.24 -1.47 | ——=——-—-
19 -7.500 -23.4 -23.4 9.1 13.6 -0.21 -0.84 -1.04 | -~—=——---
20 -7.600 -22.0 -22.0 13.6 16.7 -0.20 -0.78 -0.98 | —~—=——-—-
21| -8.000 -15.4 -15.4 16.7 17.5 -0.17 -0.61 -0.78 | ——————--
22 | -8.500 -6.6 -6.6 17.5 10.9 -0.13 -0.49 -0.62 | ———-———-
23 -9.000 -1.2 -1.2 10.9 2.9 -0.10 -0.42 -0.52 | -~——————-
24 -9.500 0.3 0.3 2.9 -6.1 -0.08 -0.35 -0.43 | ~—==-——-
25| -10.000 -2.8 -2.8 -6.1 -3.7 -0.07 -0.27 -0.34 | —mmmmmm-
26 | -10.500 -4.6 -4.6 -3.7 2.4 -0.07 -0.20 S\ Iy ) E——
27 | -11.000 -3.4 -3.4 2.4 3.4 -0.08 -0.15 -0.23 | —mmmmmm-
28 | -11.500 -1.7 -1.7 3.4 2.4 -0.09 -0.13 S, .7 ) ———
29 | -12.000 -0.5 -0.5 2.4 1.2 -0.09 -0.13 -0.22 | ———————-
30 | -12.500 0.0 0.0 1.2 0.3 -0.09 -0.13 0 P77 ) —
31| -13.000 0.2 0.2 0.3 0.0 -0.09 -0.13 -0.22 | —mmmmmm-
32| -13.500 0.2 0.2 0.0 -0.1 -0.09 -0.14 .7 ) R——
33| -14.000 0.1 0.1 -0.1 -0.1 -0.09 -0.14 S, NP I ——
34| -14.500 0.0 0.0 -0.1 -0.1 -0.09 -0.14 -0.23 | -~————-
35| -15.000 0.0 0.0 -0.1 0.0 -0.09 -0.14 -0.23 | -~———-——-
36 | -15.500 0.0 0.0 0.0 0.0 -0.09 -0.14 0 P ) E—
37 | -16.000 0.0 | ——=————- 0.0 | ——=————- -0.09 -0.14 -0.23 | ——mmmmm-
1
2 )
3 (3 ptd n)
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3)3
1 ( )
" oL 5 R
KN/m | KN/m/m KN/m | kN/m/m i kN/m
1| 0.000 1.25 ) [P D D 5.21 | e
2| -0.500 3.60 ) [P DU DU 570 | —mmmmmee
3| -1.000 5.09 0 _366.44 | 61960 |  -6.21 18.2
2| -1.500 6.57 ) [ e 7 3
5| -2.000 8.06 0 | commmmm | oo | o 728 | e
6| -2.500 9.54 ) [ DU DU 774 | e
7| 30000 11.02 ) [P DU DU 8026 | —cmmmee
8| -3.500 9.89 ) [P DU DU T
9| -3.800 6.66 0 45247 | 61960 | -9.28 | 122.8
10| -4.000 9.95 ) [ i R I —
11| -4.500 12.26 ) [ DU DU 10049 | —-moemmm
12 | -4.800 8.15 ) [ DR DU 10.98 | ——mommv
13| -5.000 12.03 3] [P DR DU 11.26 | —-mommmm
14| 5,500 18.44 ) [P DU DU 11,72 | —ommmee
15 | -6.000 19.93 3] [P D DU 11,75 | —cmmemee
16| -6.500 12.67 0 | commmm | oo | o 11,27 | —comemee
17| -6.600 10.97 ) [ DU DU 111 | —ommmmee
18| -7.000 20.67 ) [ DU DU 10.30 | —-mmmmv
19| -7.500 14.45 3] [P DR DU 8,01 | —ommmmee
20| -7.600 12.47 0 8.44 1346 |  -8.60 11.6
21| -8.000 28.57 0 34.03 ol  -7.27 0.0
22 | -8.500 38.78 0 21.00 ol -5.57 0.0
23| -9.000 41.75 0 71.16 ol -3.9 0.0
24| -9.500 44.71 0 12.46 | 16820 | -2.61 43.9
25 | -10.000 41.79 0 27.83| 14465 | -1.57 22.7
26 | -10.500 38.33 0 43.48 | 12110 |  -0.86 10.4
27 | -11.000 40.58 0 47.27| 12110 | -0.46 5.6
28 | -11.500 99.99 | 121102 51.05 | 12110 |  -0.30 40.3
20 | -12.000 103.78 | 121102 54.83 | 12110 | -0.28 37.1
30 | -12.500 107.56 | 121102 58.62 | 12110 | -0.31 0.7
31| -13.000 111.35 | 121102 62.40 | 12110 | -0.34 45.0
32| -13.500 115.13 | 121102 66.19 | 12110 |  -0.36 47.8
33| -14.000 118.02 | 121102 60.97 | 12110 |  -0.37 9.1
34 -14.500 122.70 121102 73.76 12110 -0.37 49.5
35| -15.000 126,48 | 121102 77.54 | 12110 | -0.37 49.4
36 | -15.500 130.27 | 121102 81.32 | 12110 | -0.37 49.2
37| -16.000 66.55 | 60551 42.08 6055 |  -0.37 245

FORUMS8
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2)

Mmax = 71.3kN.m/m ( G.L. -6.00m) Mmin = -46._.8kN.m/m ( G.L. -10.00m)
Smax = 79.3kN/m  ( G.L. -3.80m) Smin = -60.2kN/m  ( G.L. -7.50m)
0 max= = -------—- mm ( G.L.-======- m) o min= -11.75mm ( G.L. -6.00m)
kN.m/m kN/m mm
No GL
5 p 5n 5 | Kwm
1 0.000 | -------- 0.0 | —~—===———- -1.2 -5.51 0.31 -5.21 | -—-=——---
2| -0.500 -0.6 -0.6 -1.2 -4.8 -6.09 0.39 -5.70 | ——==—mm=-
3 -1.000 -3.0 -3.0 -4.8 8.2 -6.67 0.47 -6.21 18.2
4| -1.500 1.1 1.1 8.2 1.6 -7.26 0.53 -6.72 | ———-mm—-
5| -2.000 1.9 1.9 1.6 -6.4 -7.73 0.50 “7.24 | —eeeeeee
6 -2.500 -1.3 -1.3 -6.4 -15.9 -8.00 0.26 -7.74 | ———————-
7 -3.000 -9.3 -9.3 -15.9 -27.0 -7.99 -0.27 -8.26 | -~—--——---
8 -3.500 -22.8 -22.8 -27.0 -36.9 -7.66 -1.20 -8.85 | -—=——-—-
9 -3.800 -33.8 -33.8 -36.9 79.3 -7.30 -1.98 -9.28 122.8
10 | -4.000 -18.0 -18.0 79.3 69.3 -7.01 -2.61 -9.61 | ———-———-
11| -4.500 16.7 16.7 69.3 57.1 -6.09 -4.40 | -10.49 | ——-———--
12 -4.800 33.8 33.8 57.1 48.9 -5.46 -5.52 -10.98 | -~—--———--
13 -5.000 43.6 43.6 48.9 36.9 -5.02 -6.24 -11.26 | --—---—-—-
14 | -5.500 62.0 62.0 36.9 18.5 -3.92 -7.80 | -11.72 | -=—-———-
15| -6.000 71.3 71.3 18.5 -1.5 -2.93 -8.82 | -11.75 | -——-———-
16 | -6.500 70.5 70.5 -1.5 -14.1 -2.10 -9.17 |  -11.27 | —==————-
17 | -6.600 69.1 69.1 -14.1 -25.1 -1.96 -9.16 | -11.11 | ——=-—---
18 -7.000 59.1 59.1 -25.1 -45.8 -1.47 -8.82 -10.30 | -=-——---
19 -7.500 36.2 36.2 -45.8 -60.2 -1.04 -7.87 -8.91 | ——-—----
20 -7.600 30.2 30.2 -60.2 -52.7 -0.98 -7.62 -8.60 | -~—=——---
21| -8.000 9.1 9.1 -52.7 -47.2 -0.78 -6.50 -7.27 | =
22| -8.500 -14.5 -14.5 -47.2 -45.0 -0.62 -4.95 -5.57 | ——mmmmm-
23 -9.000 -37.0 -37.0 -45.0 -15.6 -0.52 -3.44 -3.96 | -~———-——-
24 | -9.500 -44.8 -44.8 -15.6 -4.0 -0.43 -2.18 0 [R—
25| -10.000 -46.8 -46.8 -4.0 4.7 -0.34 -1.23 =1.57 | —=====-=-
26 | -10.500 -44.4 -44.4 4.7 20.3 -0.27 -0.59 -0.86 | —-—-———-
27 | -11.000 -34.3 -34.3 20.3 32.6 -0.23 -0.23 -0.46 | ———————-
28 | -11.500 -18.0 -18.0 32.6 23.9 -0.22 -0.08 -0.30 | ———-———-
29 | -12.000 -6.1 -6.1 23.9 12.0 -0.22 -0.06 -0.28 | -~———-———-
30 | -12.500 -0.1 -0.1 12.0 3.7 -0.22 -0.09 0 < 1 ——
31| -13.000 1.8 1.8 3.7 -0.2 -0.22 -0.11 -0.34 | —mmmmmm-
32| -13.500 1.7 1.7 -0.2 -1.4 -0.22 -0.13 -0.36 | ———-———-
33| -14.000 1.0 1.0 -1.4 -1.2 -0.23 -0.14 -0.37 | ———-mm—-
34| -14.500 0.4 0.4 -1.2 -0.6 -0.23 -0.15 -0.37 | ~——————-
35| -15.000 0.1 0.1 -0.6 -0.2 -0.23 -0.14 -0.37 | -~—=————-
36 | -15.500 0.0 0.0 -0.2 0.0 -0.23 -0.14 0 J<y A ———
37 | -16.000 0.0 | ——=————- 0.0 | ——=————- -0.23 -0.14 -0.37 | ——m—mmm-
1
2 )
3 (3 ptd n)
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%)
1 ( )
" oL 5 R
KN/m | KN/m/m KN/m | kN/m/m i kN/m
1| 0.000 1.18 ) [P D D 5.37 | —cmmmee
2| -0.500 3.40 ) [P DU DU 7 2
3| -1.000 4.80 0 2366.44 | 61960 |  -6.17 16.1
2| -1.500 6.20 ) [ e ) —
5| -2.000 7.60 0 | commmmm | oo | o 7002 | —mmmmee
6| -2.500 9.00 ) [ DU DU 744 | e
7| 30000 1040 ) [P DU DU I
8| -3.500 9.33 ) [P DU DU 842 | cmmeee
9| -3.800 6.29 0 _452.47 | 61960 | -8.81 93.6
10| -4.000 9.39 ) [ i T
11| -4.500 11.57 3 [N [ [— 10.00 | —--mmmmm
12 | -4.800 7.69 ) [ DR DU 1055 | ——cemmv
13| -5.000 11.35 3] [P DR DU 10091 | —-mommmm
14| 5,500 17.40 ) [P DU DU 11,76 | —-mmmmv
15 | -6.000 18.80 3] [P D DU 12.50 | ——mmmev
16| -6.500 11.95 0 | commmm | oo | o 1317 | ——mmemee
17 | -6.600 10.35 0 688.62 | 61960 | -13.30 | 135.3
18| -7.000 19.50 ) [ e 13.80 | ——moomev
19| -7.500 13.63 3] [P DR DU 14.20 | —cmmmee
20| -7.600 11.75 ) [P DR DU 1424 | —cemeeee
21| -8.000 27.92 ) [P D DU 14,15 | —comemee
22 | -8.500 38.78 0| commmm | oo | 13046 | ——omemev
23| -9.000 41.75 ) [P DU DU 1211 | —ommmee
24| -9.500 4.7 ) [P DU DU 10,16 | —-mommmm
25 | -10.000 39.95 0 50.56 ol Z7.86 0.0
26 | -10.500 34.65 0 27.43| 12110 |  -5.57 67.5
27 | -11.000 36.90 0 31.31| 12110 |  -3.62 43.8
28 | -11.500 39.15 0 35.20 | 12110 |  -2.15 26.1
20 | -12.000 41.40 0 39.00 | 12110 | -1.19 14.5
30 | -12.500 43.65 0 42,97 | 12110 |  -0.66 8.1
31| -13.000 116.81 | 121102 46.86 | 12110 |  -0.45 59.9
32| -13.500 12070 | 121102 50.75 | 12110 |  -0.41 54.9
33| -14.000 124.59 | 121102 54.63 | 12110 | -0.44 59.0
34 -14.500 128.47 121102 58.52 12110 -0.48 64.5
35| -15.000 132.36 | 121102 62.41 | 12110 | -0.51 68.4
36 | -15.500 136.25 | 121102 66.20 | 12110 |  -0.53 70.8
37| -16.000 69.58 | 60551 34.60 6055 | -0.54 36.3

FORUMS8
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2)

Mmax = 97_.0kN.m/m ( G.L. -8.50m) Mmin = -71.7kN.m/m ( G.L. -11.50m)

Smax = 88.2kN/m  ( G.L. -6.60m) Smin = -109.8kN/m  ( G.L. -9.50m)

0 max= = -------—- mm ( G.L.-======- m) o min= -14.24mm ( G.L. -7.60m)

kN.m/m kN/m mm
No GL
5 p 5n 5 | Kwm

1 0.000 | —--—--—- 0.0 | ——=————- -1.2 -5.21 -0.16 %<7 A —
2| -0.500 -0.6 -0.6 -1.2 -4.6 -5.70 -0.06 S ) —
3 -1.000 -2.9 -2.9 -4.6 6.7 -6.21 0.03 -6.17 16.1
4| -1.500 0.5 0.5 6.7 0.5 -6.72 0.13 -6.59 | ————mm—-
5| -2.000 0.7 0.7 0.5 -7.1 -7.24 0.22 Sy 1 7 )
6 -2.500 -2.8 -2.8 -7.1 -16.1 -7.74 0.31 -7.44 | ———————-
7 -3.000 -10.9 -10.9 -16.1 -26.5 -8.26 0.38 -7.88 | -~—=——--—-
8 -3.500 -24.2 -24.2 -26.5 -35.8 -8.85 0.44 -8.42 | -~—=——-—-
9 -3.800 -34.9 -34.9 -35.8 51.4 -9.28 0.47 -8.81 93.6
10 | -4.000 -24.6 -24.6 51.4 42.0 -9.61 0.49 2912 | —mmmmme
11| -4.500 -3.6 -3.6 42.0 30.5| -10.49 0.49 10.00 | ———--——-
12 -4.800 5.5 5.5 30.5 22.8 -10.98 0.43 10.55 | -—=--——-
13 -5.000 10.1 10.1 22.8 11.4 -11.26 0.35 10.91 | -—=——---
14 -5.500 15.8 15.8 11.4 -6.0 -11.72 -0.04 11.76 | -~—=——---
15| -6.000 12.8 12.8 -6.0 -24.8| -11.75 -0.76 12.50 | ——--——--
16 | -6.500 0.5 0.5 -24.8 -36.7 | -11.27 -1.90 13.17 | —===m——-
17 -6.600 -3.2 -3.2 -36.7 88.2 -11.11 -2.18 13.30 135.3
18 -7.000 32.1 32.1 88.2 68.7 -10.30 -3.50 13.80 | -~——--——-
19 -7.500 66.4 66.4 68.7 55.1 -8.91 -5.29 14.20 | --=—----
20 | -7.600 71.9 71.9 55.1 43.3 -8.60 -5.64 14.24 | ————mm=-
21| -8.000 89.3 89.3 43.3 15.4 -7.27 -6.87 14.15 | ——-———--
22 | -8.500 97.0 97.0 15.4 -23.4 -5.57 -7.90 13.46 | ———-———-
23 -9.000 85.3 85.3 -23.4 -65.1 -3.96 -8.14 12.11 | ———--——-
24 -9.500 52.7 52.7 -65.1 -109.8 -2.61 -7.55 10.16 | -—=-----
25| -10.000 -2.2 -2.2 -109.8 -99.2 -1.57 -6.29 -7.86 | -~—=——--—-
26 | -10.500 -51.8 -51.8 -99.2 -39.0 -0.86 -4.71 -5.57 | ———mmmmu
27 | -11.000 -71.3 -71.3 -39.0 -0.8 -0.46 -3.16 -3.62 | ———-m——-
28 | -11.500 -71.7 -71.7 -0.8 21.4 -0.30 -1.85 1< [——
29 | -12.000 -61.0 -61.0 21.4 33.5 -0.28 -0.92 -1.19 | ———————-
30 | -12.500 -44.2 -44.2 33.5 40.9 -0.31 -0.36 -0.66 | ---—----
31| -13.000 -23.8 -23.8 40.9 30.9 -0.34 -0.11 -0.45 | ——=——---
32| -13.500 -8.3 -8.3 30.9 15.8 -0.36 -0.05 -0.41 | ———-m——-
33| -14.000 -0.4 -0.4 15.8 4.9 -0.37 -0.07 -0.44 | ———omme
34| -14.500 2.0 2.0 4.9 -0.6 -0.37 -0.11 -0.48 | ~———-——-
35| -15.000 1.7 1.7 -0.6 -2.1 -0.37 -0.14 -0.51 | -~—=—-——-
36 | -15.500 0.6 0.6 -2.1 -1.3 -0.37 -0.16 B - Y —
37 | -16.000 0.0 | ——=————- ) [ — -0.37 -0.18 -0.54 | ——m—mmm-
1
2 )
3 (3 ptd n)
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3
3.1
3.1.1
1 2
2
3
G.L.(m) -16.000
G.L.(m) -10.000
L m 6.000
3.1.2
1 Ra
_ 1
Ra = " Q=N
N
n Q Ra
(kN) (kN) (kN)
2.00 960.00 480.00 0.00 | o
2 Q
Q qd A a U X2 ci Li
1
A U
(m) (m)
0.0000 1.0000
2 qd
qd 200.00(kN/m*)
3 2 ci Li
a 0.8
2 ci Li 1200.00(kN/m)
No Li N fsi Li fsi
(m) Ns c KN/ (kN/m)
1| 6.000 | ----- 100.0 100.00 600.00
2 6.000 600.00
No Li N fsi Li fsi
m Ns c (KN/T) (kN/m)
1] 6.000 | ----- 100.0 100.00 600.00
b2 6.000 600.00
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4.1

4.1.1

@
)
2)

@

2)

3)

G.L.(m) 0.000
G.L.(m) | -16.000
G.L.(m) | -10.000
Ld m 6.000
G.L.(m) -2.000
G.L.(m) | -10.000
hw m 8.000
Yy w kN/m’ 10.0
q KN/ 0.000
Fs %— = Fsa
W q U Fs
(N/E) | (kN Fsa
96.00 80.00 1.20 1.20| o
2.0 y' LUd 96.00(kN/m*)
’ (kN/m®) (
No Li ) .
y y ' iLi
G.L.(m) | G.L.(m) | (m) (kN/m) (kN/m)
1| -10.000 | -16.000 | 6.000 8.0 48.00
> 6.000 48.00
U yw hw 80.00(kN/m?)
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4.1.2
@
G.L. () 0.000
G.L.(m) | -16.000
G.L.(m) | -10.000
Ld m 6.000
G.L.(n) | -2.000
G.L.(ny | -10.000
hw m 8.000
L m 2.000
Lr m 8.000
Lr
@
1
Lh Ld 2.0 hw
hw
Lh (m)
Lh Ld Lr L
Ld (m
2
th Ld |2.0 hw
Lh (m) Ld (m) (m (m
12.000 6.000 18.000 | 16.000 | o
=
hw Lr
Lh
AN
doktk L
Ld
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4.1.3
@
1
2)
G.L.(m) 0.000
G.L.(m) | -10.000
G.L.(m) -2.000
G.L.(m) | -10.000
y w kN/m® 10.0
q kN/m? 10.00
)
1)
I ™
2yH g c
(kN/iT?) (KN/1T) Nba
160.00 100.00 | 1.600 3.14 | o
O
2)Z y i Hi
y i (kN/m*)
No Li , T
y y ' iLi
G.L.(m) | G.L.(m) | (m) (kN/m) (kN/)
1 0.000 -2.000 | 2.000 14.0 28.00
2 -2.000 -8.000 | 6.000 15.0 90.00
3 -8.000 | -10.000 | 2.000 21.0 42.00
2 10.000 160.00
3)

c 100.00kN/m?

FORUMS8
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4.1.4
@
1)
2)
G.L.(m) | -10.000
G.L.(m) | -11.000
G.L.(m) | -13.000
hw m 4.000
y w kN/m’ 10.0
q KN/m? 0.000
@)
1)
Fs = %— = Fsa
w g u Fs
(KN/T) | (kN/E) Fsa
54.00 40.00 1.35 1.10 | o
2)
( )
W yi Li 54..00(kN/m?)
y (KN/m?)
No Li ) v s
6L | 6L | M | golym) sz/%%'
1| -10.000 | -13.000 | 3.000 18.0 54.00
2z 3.000 54.00
3)
u yw hw 40.00(kN/m?)
EEREEERRZZZDNY
==
AN
hl 1 hw
ne Y2—v
u

FORUMS8
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5
5.1
5.1.1
D1
141 2% 3%
297
1 1 1
17
1 1 1
20000
@
1)
2)
No.
1 1 2
2 2 2
3 3 2
3)
No. No
1 1 1
2 2 1
3 3 1

15000

FORUMS8
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4)
No. No
1 1 1 1
2 2 1 1
3 3 1 1
5)
No.
1 1 1 1
2 2 1 1
3 3 1 1
6)
No.
1 1

FORUMS8
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5.1.2
D
(kN/m)
1 47.07
2 122.81
3 135.27
@
€))
No. No B (m) L (m
) Ly (m) Lz (m)
1 1 1 17 2.67 3.50 3.50 5.00
2 2 1 17 2.67 3.50 3.50 5.00
3 3 1 17 2.67 3.50 3.50 5.00
SS400
Nt 150 kN
T a 120 N/mm?
o cal 210 N/mm?
(1/8)wL?
®
No. No B (m) L (m) w (kN/m)
) Ly (m) Lz (m)
1 1 1 17 4.83 5.00 5.00 5.00 5.00
2 2 1 17 4.83 5.00 5.00 5.00 5.00
3 3 1 17 4.83 5.00 5.00 5.00 5.00
SS400
Nt 150 kN
o cal 210 N/mm?
®)
No. No. L1 (m) L2 (m) L (m) w (KN/m) 0(C )
1 1 1 17 1.50 2.00 1.35 5.00 45
2 2 1 17 1.50 2.00 1.35 5.00 45
3 3 1 17 1.50 2.00 1.35 5.00 45
Lb L

FORUMS8
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SS400
o cal 210 N/mm?
Nt 150 kN
(6
No. No. L1 (n) L2 (m) L (m) w (KN/m) 0 ()
1 1 1 17 1.85 1.65 1.35 5.00 45
2 2 1 17 1.85 1.65 1.35 5.00 45
3 3 1 17 1.85 1.65 1.35 5.00 45
Lb L
SS400
o cal 210 N/mm?
Nt 150 kN
)
No. H@m | L (m 1B N4 (kN) | LNx (m) | LNy (m) | Lwx (m) | Lwy (m)
1 6.60 3.40 o 0.000 4.83 5.00 5.00 4.901
SS400
Pt 150 kN
wi 5.00 kN/m
w 1.47 kN/m
oa 140 N/mm?

FORUMS8
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5.1.3
D1
1)
47.07 kN/m
3.50 m
2.67m
Nt 150 kN
2)
N RxB Nt 47.07x 2.67 150  275.91 kN
L12 2
gFE—A b oy o= Bl AROTX 3.50 75 o8 |.m
AT s =LKL - AROTX 350 _ gy 37 1y
3) : H 350%x 350x 12x 19
A 154.90 cm? Z 2000 cm?®
4)
3
FARSIE  oc = G = —Shir0 = 18 N/
- M 72.08X10° ,
BT I obe = 7 = 5600000 = 36 N/mm
e _ S _82.37Xx10° )
A WG I e (T T STiA =22 = 120 N/mm® ...
5)
Ly 3.50 m
Lz 5.00 m
H 350x 350x 12x 19
Z
Ly ry 3500.0 151.0 23.2
Lz rz 5000.0 89.9 55.6
L r z z
(€H)
gc o bey <1
g caz obagy (1—oc, oeay) =
18 36 _
64 T 175 (1= 18, oo o2 =1... K
@)
g bey
oc+ T—oc 0cay) = ogcal
36 _
18+—— (g g3y o4 = 210... OK
oC

OK

FORUMS8
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o bey :
o caz :
L r 5000.0 89.9 55.6 L: r: 2
18 L r 92 0 caz 140 0.82 L r 18 x 1.5
140 0.82 55.6 18 x 1.5 164
o bagy:
Lb b 5000.0 350 14.3 Lb: (=Lz) b=
45 Lb b 30 o bagy 140 2.4 Lb b 4.5 x 1.5
140 2.4 14.3 4.5 x 1.5 175
C eay :
Ly ry 3500.0 151.0 23.2 Ly: ry: 2
o eay 1,200,000 (Ly ry)’
1,200,000 23.2° 2234
ocal :
(2)2
D
122.81 kN/m
3.50 m
2.67 m
Nt 150 kN
2)
N Rx B Nt 122.81x 2.67 150 478.52 kN
. ]2 2
ggEe—Ar b oy o= Bl = 228X 350 g5 05 kNm
AT g =KL - 122.81X 390 _ »14 99 1y
3) : H 350x 350% 12x 19
A 154.90 cm’ VA 2000 cm®
4)
3
FEARIE ) B oo = S4— = AL — 31 n/m’
- _ M 188. 05 X10° _ 2
Hi TS B obe = = 9500000 = 94 N/mm
e _ S _214.92X%10° _ 2
AW F T =2 - = oz =57 = 120 N/mn’ ... OK
5)
Ly 3.50 m
Lz 5.00 m

H 350x 350x 12x 19

|

Ly ry 3500.0

Lz rz 5000.0

151.0
89.9

23.2
55.6

FORUMS8
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L r z z
€Y
gc o bey «
g caz + obagy (1—oc, oeay) =1
31 94 _
64 7175 1— 3L/ 2oaa) o7 =1... 0K
@
o bey
oc+ T—oc 0cay) = ogcal
94 _
31+ (1= 31, 2230) =126 = 210 ... OK
gc
o bey :
o caz :
L r 5000.0 89.9 55.6 L: r: 2
18 L r 92 o caz 140 0.82 L r 18 x 1.5
140 0.82 55.6 18 x 1.5 164
o bagy:
Lb b 5000.0 350 14.3  Lb: (zLz) b=
45 Lb b 30 o bagy 140 2.4 Lb b 4.5 x 1.5
140 2.4 14.3 4.5 x 1.5
o eay :
Ly ry 3500.0 151.0 23.2 Ly: ry: 2
o eay 1,200,000 (Ly ry)’
1,200,000 23.22 2234
o cal :
(3)3
1
135.27 kN/m
3.50 m
2.67 m
Nt 150 kN
2)
N Rx B Nt 135.27x 2.67 150 511.85 kN
. ]2 2
gFEe—Ar b g o= Bl = LI2TX 350 po7 13 kN
AT g =KL - L3 27X 350 _ p36 79 Wy
3) : H 350x 350x 12x 19
A 154.90 cm? YA 2000 cm®
4)
3
S S oo = S4— = 200 — 33 v/
6
g IS E obc = I\Z/[ = 2050(1)856(1)0 = 104 N/mm?

175

FORUMS8
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S 236. 72X 10°

e L _ _ — 2
B AW AT E T = M—2tf) - tw 3744 =63 = 120 N/mm* ... OK
5)
Ly 3.50 m
Lz 5.00 m

H 350x 350x 12x 19

|

Ly ry 3500.0 151.0 23.2
Lz rz 5000.0 89.9 55.6

L r z z
@
gc o bey
g caz + obagy (1—oc, oeay) =1
33 | 104 _
64 T 175 (1— 33,/ 2o34) 80 =1... OK
@
g bey
oc+ T—oc/ 0cay) = ogcal
104 _
33+ (1= 33, 2230) =138 = 210 ... OK
ocC
o bey :
ocaz :
L r 5000.0 89.9 55.6 L: r: 2
18 L r 92 o caz 140 0.82 L r 18 x 1.5
140 0.82 55.6 18 x 1.5 164
o bagy:
Lb b 5000.0 350 14.3  Lb: (Lz) b=
45 Lb b 30 o bhagy 140 2.4 Lb b 4.5 x 1.5
140 2.4 14.3 4.5 x 1.5 175
o eay :
Ly ry 3500.0 151.0 23.2 Ly: ry: 2
C eay 1,200,000 (Ly ry)’
1,200,000 23.22 2234
o cal :

FORUMS8
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5.1.4
M1
D

2)

i

3)

4)

R 47.07 kN/m
4.83 m
Nt 150 kN
5.00 kN/m
L 5.00 m
N RxB Nt 47.07x 4.83 150  377.11 kN
L12 2
Fe—ay b M= S = 200X 500 — 563 in
© H 350x 350x 12 19
A 154.90 cn’ Z 2000 cn’

377. 11 X 10°

Gt 1 _ N _ _ 2
R T oc = 54— = 15450 = 24 N/mm
- M _ 15.63 X108 5
BRI 7T obe = 7 = 5500000~ = 8 N/mm
5)
Ly  5.00m
Lz 5.00 m
H 350x 350x 12x 19
y
VA
Ly ry 5000.0 151.0 33.1
Lz rz 5000.0 89.9 55.6
L r z z
(€D)
oc g bey
o caz + obagy (1—oc,// oeay) =1
24 8 _
64 7175 1— 24, 1oo4) 19 =1... 0K
@)
obey
oc+ T—o0c, oeay) = ogcal
8 _
24+ (I— 24,7 1094 =32 = 210 ... OK
oc
o bey :
o caz :

FORUMS8
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L r 5000.0 89.9 55.6 L: r: 2
18 L r 92 o caz 140 0.82 L r 18 x 1.5
140 0.82 55.6 18 x 1.5 164

o bagy:

Lb b 5000.0 350 14.3 Lb: (=Lz) b=

4.5 b b 30 o bagy 140 2.4 Lb b 4.5 x 1.5

140 2.4 14.3 4.5 x 1.5

o eay :

Ly ry 5000.0 151.0 33.1 Ly: ry: 2

o eay 1,200,000 (Ly ry)’
1,200,000 33.1° 1094

o cal :
(2)2
1
R 122.81 kN/m
4.83 m
Nt 150 kN
5.00 kN/m
L 5.00 m
2)
N Rx B Nt 122.81x 4.83 150 742 .56 kN
.12 2
fife—sy M= kb = 500 500 — 563 10
3) - H 350x 350x 12x 19
A 154.90 cm? z 2000 cm?
4)
3
FE s A oc = H— = MBI — g N/
_ M _ _15.63X10° _ )
BRI 7T obe = 7 = 5500000~ = 8 N/mm
5)
Ly  5.00m
Lz 5.00 m
H 350x 350x 12x 19
y
Z
Ly ry 5000.0 151.0 33.1
Lz rz 5000.0 89.9 55.6
L r z z
@
gc g bey <1

o caz + obagy (1—oc,/ oeay)

175

FORUMS8
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48 8 _
64 T 175 (1— 48, 1004 0-34 =1... OK
@
obey
oc+ T—o0c, oeay) = g cal
8 _
48+ (1— 48, 1090) =56 = 210 ... OK
oc
o bey :
o caz :
L r 5000.0 89.9 55.6 L: r: 2
18 L r 92 o caz 140 0.82 L r 18 x 1.5
140 0.82 55.6 18 x 1.5 164
o bagy:
Lb b 5000.0 350 14.3 Lb: (=Lz) b=
45 Lb b 30 obagy 140 2.4 Lb b 4.5 x1.5
140 2.4 14.3 4.5 x 1.5
o eay :
Ly ry 5000.0 151.0 33.1 Ly: ry: 2
o eay 1,200,000 (Ly ry)’
1,200,000 33.12 1094
o cal :
(3)3
1)
R 135.27 kN/m
4.83 m
Nt 150 kN
5.00 kN/m
L 5.00 m
2)
N Rx B Nt 135.27x 4.83 150 802.68 kN
L2 2
gFE— A hop = ek — 9.00% 5.00 4563 k\n
3) : H 350% 350% 12x 19
A 154.90 cm? Z 2000 cm?
4)
gtz 1t _ N _ 802.68X10° _ P
FEAEs 7 oc = 4 = 15190 = 52 N/mm
S _ M _ 15.63X10° P
BRI 7T obec = 7 = 5500000 ~ = 8 N/mm
5)
Ly 5.00 m
Lz 5.00 m

H 350x 350x 12x 19

175

FORUMS8
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Z

Ly ry 5000.0 151.0 33.1
Lz rz 5000.0 89.9 55.6

x 1.5 164

(=Lz) b=
x 1.5
x 1.5 175

L r z z
@
oc g bey
o caz + obagy (1—oc,/oeay) =1
52 | 8 _
64 T 175 (1= b2, 1004 0-36 =1... OK
@
obey
oc+ T—oc, 0cay) = ocal
8 _
52+ (I— 52,7 1094 =60 = 210 ... OK
gc
o bey :
o caz :
L r 5000.0 89.9 55.6 L: r: 2
18 L r 92 o caz 140 0.82 L r 18 x 1.5
140 0.82 55.6 18
o bagy:
Lb b 5000.0 350 14.3 Lb:
45 Lb b 30 o bagy 140 2.4 Lb b 4.5
140 2.4 14.3 4.5
o eay :
Ly ry 5000.0 151.0 33.1 Ly: ry:
o eay 1,200,000 (Ly ry)’
1,200,000 33.1° 1094
o cal :

FORUMS8
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5.1.5
(L1
1
R 47 .07 kN/m
L1 1.50 m
L2 2.00 m
1.35m
w 5.00 kN/m
Nt 150 kN
0 45
2)
N (/2)x (L1 L2)x R cos® Nt
(1/2)x (1.50 2.00)x 47.07 cos(45° ) 150  266.49 kN
L2 2
gFE— A b M= e = 200X LIy gy g
3)  H 350% 350x% 12x 19
A 154.90 cm? YA 2000 cm?
4)
gtz 1t _ N _ 266,49X10° _
JERBIGTIE  oc = —— = 15160 = 17
_ M L14X10° _ z
TSI E  obe = T = 5600000~ = 1 N/mm
5)
L 1.35 m
H 350x 350x 12x 19
y
VA
(€))
gc o bey
o caz + obagy (1—oc, oeay) =1
17 1 _
510 T 2i0 (I— 17, 15013) -8 =1... 0K
@)
o bey
oc+ T—oc 0cay) = ocal
1 _
VUt —G—177 sog) =18 = 210 ... OK
oc
o bey :
o caz :
L r 1350.0 89.9 15.0 L: r: 2

FORUMS8



- 42 -

L r 18 o caz 140x 1.5 210
o bagy:
Lb b 1350.0 350 3.9 Lb: (=Lz) b=
Lb b 4.5 o bagy 140x 1.5 210
o eay :
Ly ry 1350.0 151.0 8.9 Ly: ry: 2
o eay 1,200,000 (Ly ry)’
1,200,000 8.9° 15013
o cal :

2)2
1)
R 122.81 kN/m
L1 1.50 m
L2 2.00 m
1.35 m
W 5.00 kN/m
Nt 150 kN
0 45
2)
N (/2)x (L1 L2)xR cos® Nt
(1/2)x (1.50 2.00)x 122.81 cos(45° ) 150 453.94 kN
) 2
fife—sy o M= kb = 900 LIy in
3) - H 350x 350x 12x 19
A 154.90 cm’ z 2000 cm?
8
Qe L _ N 453, 94X10°
JERBIGTIE  oc = —— = 15190 = 29
. M 114X10° _ :
BFISSIE  obe = T = 5600000~ = 1 N/mm
5)
L 1.35m
H 350x 350x 12x 19
Yy
VA
@
oc g bey
o caz + obagy (1—oc,/oeay) =1

29 | 1
210 " 210 (1— 29, 15013)

FORUMS8
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@

obey

N

oc+

29+

(1—oc,/ oeay)

o cal

=30 = 210 ... OK

1
(1— 29/ 15013)

ocC
o bey :
0 caz :

L r

o bagy:

Lb b

1350.0
L r 18

89.9 15.0 L:
o caz 140x 1.5 210

1350.0 350 3.9 Lb:

Lb b 4.5

o eay :

o bagy 140x 1.5 210

Ly ry 1350.0 151.0 8.9 Ly:
1,200,000 (Ly ry)?

o eay

o cal :

(3)3
1)

2)
N

Wl i — A

3)
A

4)
FEMEIS ) JE

i ) B

5

L1
L2

Nt

1,200

,000 8.97 15013

135.27 kN/m
1.50 m

2.00 m
1.35m

5.00 kN/m
150 kN

45

(/2)x (L1 L2)x R cos® Nt

(1/2)x (1.50 2.00)x 135.27 cos(45° ) 150

“h M=

ogbe =

W

. L2

5.00X 1. 35

8

: H 350x 350x 12x 19
154.90 cm?

8

z 2000 cm?

3
484, 78 X10° _ 31

e =

15490

6
L1AX10" _

L 1.35m
350x 350x 12x 19

2000000

= 1.14 kN.m

(zLz) b=

ry: 2

484.78 kN

FORUMS8
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€))

gcC

o bey

o caz + obagy (1—oc,// oeay)

31

IA

IA

@

n 1
210 ' 210 (1— 31, 15013)

o bey

GC+ (1_0

¢,/ o eay)

=0.15

= ogcal

=32 = 210 ... OK

314+ —=

ccC
o bey :
C caz :

o bagy:

o eay :

o cal :

1
31,7 15013)

L r 1350.0
L r 18

89.9 15.0 L:
ocaz 140x 1.5 210

Lb b 1350.0 350 3.9 Lb:

Lb b 4.5

o bagy 140x 1.5 210

Ly ry 1350.0 151.0 8.9  Ly:
o eay 1,200,000 (Ly ry)’
1,200,000 8.9° 15013

. 0K

ry:

(=Lz) b=

FORUMS8
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5.1.6
(L1
1
R 47 .07 kN/m
L1 1.85m
L2 1.65m
1.35m
w 5.00 kN/m
Nt 150 kN
0 45
2)
N (/2)x (L1 L2)x R cos® Nt
(1/2)x (1.85 1.65)x 47.07 cos(45° ) 150  266.49 kN
e ]2 2
gFE— A b M= e = 200X LIy gy g
3) : H 350x 350x 12x 19
A 154.90 cm? YA 2000 cm?
4)
gtz 1t _ N _ 266,49X10° _
JERBIGTIE  oc = —— = 15160 = 17
_OM . 1.14X10° _ :
TSI E  obe = T = 5600000~ = 1 N/mm
5)
L 1.35 m
H 350x 350x 12x 19
y
VA
(€))
gc o bey
o caz + obagy (1—oc, oeay) =1
17 1 _
510 T 2i0 (I— 17, 15013) -8 =1... 0K
@)
o bey
oc+ T—oc 0cay) = ogcal
1 _
VUt —G—177 sog) =18 = 210 ... OK
ocC
o bey :
o caz :
L r 1350.0 89.9 15.0 L: r: 2

FORUMS8
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L r 18 o caz 140x 1.5 210
o bagy:
Lb b 1350.0 350 3.9 Lb: (=Lz) b=
Lb b 4.5 o bagy 140x 1.5 210
o eay :
Ly ry 1350.0 151.0 8.9 Ly: ry: 2
o eay 1,200,000 (Ly ry)’
1,200,000 8.9° 15013
o cal :

2)2
1)
R 122.81 kN/m
L1 1.85m
L2 1.65m
1.35 m
W 5.00 kN/m
Nt 150 kN
0 45
2)
N (/2)x (L1 L2)xR cos® Nt
(1/2)x (1.85 1.65)x 122.81 cos(45° ) 150 453.94 kN
) 2
fife—sy o M= kb = 900 LIy in
3) - H 350x 350x 12x 19
A 154.90 cm’ z 2000 cm?
8
Qe L _ N 453, 94X10°
JERBIGTIE  oc = —— = 15190 = 29
. M 114X10° _ :
BFISSIE  obe = T = 5600000~ = 1 N/mm
5)
L 1.35m
H 350x 350x 12x 19
Yy
VA
@
oc g bey
o caz + obagy (1—oc,/oeay) =1

29 | 1
210 " 210 (1— 29, 15013)

FORUMS8
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@

obey

N

oc+

29+

(1—oc,/ oeay)

o cal

=30 = 210 ... OK

1
(1— 29/ 15013)

ocC
o bey :
0 caz :

L r

o bagy:

Lb b

1350.0
L r 18

89.9 15.0 L:
o caz 140x 1.5 210

1350.0 350 3.9 Lb:

Lb b 4.5

o eay :

o bagy 140x 1.5 210

Ly ry 1350.0 151.0 8.9 Ly:
1,200,000 (Ly ry)?

o eay

o cal :

(3)3
1)

2)
N

Wl i — A

3)
A

4)
FEMEIS ) JE

i ) B

5

L1
L2

Nt

1,200

,000 8.97 15013

135.27 kN/m
1.85m

1.65 m
1.35m

5.00 kN/m
150 kN

45

(/2)x (L1 L2)x R cos® Nt

(1/2)x (1.85 1.65)x 135.27 cos(45° ) 150

“h M=

ogbe =

W

. L2

5.00X 1. 35

8

: H 350x 350x 12x 19
154.90 cm?

8

z 2000 cm?

3
484, 78 X10° _ 31

e =

15490

6
L1AX10" _

L 1.35m
350x 350x 12x 19

2000000

= 1.14 kN.m

(zLz) b=

ry: 2

484.78 kN

FORUMS8
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€))

gcC

o bey

o caz + obagy (1—oc,// oeay)

31

IA

IA

@

n 1
210 ' 210 (1— 31, 15013)

o bey

GC+ (1_0

¢,/ o eay)

=0.15

= ogcal

=32 = 210 ... OK

314+ —=

ccC
o bey :
C caz :

o bagy:

o eay :

o cal :

1
31,7 15013)

L r 1350.0
L r 18

89.9 15.0 L:
ocaz 140x 1.5 210

Lb b 1350.0 350 3.9 Lb:

Lb b 4.5

o bagy 140x 1.5 210

Ly ry 1350.0 151.0 8.9  Ly:
o eay 1,200,000 (Ly ry)’
1,200,000 8.9° 15013

. 0K

ry:

(=Lz) b=

FORUMS8
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5.1.7
(1No.1
1
X L1 4.83 m P
Y L2 5.00 m Wi
X LY 5.00 m
Y L2’ 491 m
N1
X Y
R(N/m)y | P (kN) | RxL1 P (kN) | RxL2 P (kN)
1 47.07 150.00 377.11 385.35
2 122.81 150.00 742 .56 764.05
3 135.27 150.00 802.68 826.35
(1) 1922.35 (2) 1975.75
N1 (1/50)x ((1) (2)) (1/50)x (1922.35 1975.75) 77.96 kN
N2
X
wi (KN/my | wix L' (kN) wix L2 (kN)
1 5.00 25.00 24.56
2 5.00 25.00 24.56
3 5.00 25.00 24.56
(3 75.00 %) 73.69
N2 (3) (4) 75.00 73.69 148.69 kN
N3 wxH 1.47x6.60 9.71 kN
w; (kN/m)  H; (m
N4  0.00 kN
2)
N N1 N2 N3 N4
77.96 148.69 9.71 0.00 236.36 kN
N’ N1 N2 N3
77.96 148.69 9.71 -80.43 kN
3) : H 350x 350x 12x 19 A 154.90 cm®
4)
" 3
A IE oc = S — = 230880 —j5 < 7y N/met L oK
L r 4500.1 89.9 50.1 L: r: 2
18 L r 92 o ca 140 0.82 L r 18 x 1.5

140 0.82 50.1 18

x 1.5 171 N/mm?

150.00 kN
5.00 kN/m

FORUMS8
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5)1 B
1 B 1.10m
. KH - D . 195080 X 0.35 _ »
B=Y (—gpr ) =Y Ix200x10°x0 00012500 ) = 0-9090 m
KH KHo(BH 0.3)** 1B
kHo a Eo 0.3

BH VD B 0.619 m

No o Eo kHo kH
m kN/m? kN/m® kN/m®

1| 10.00 | 100800 336000 195080
2| 10.00 | 140000 466667 270944

L L 1@ 3.40 1.10 4.50m

FORUMS8
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-10.

6
6.1
6.1.11
@
)
(mm) (kN.m/m) (kN/m)
No
1 11.000 -0.07 -8.43 -0.08 3.04 -29.63
2 12.000 -0.07 -8.43 -0.09 3.04 -29.63
3 13.000 -0.07 -8.43 -0.09 3.04 -29.63
4 14.000 -0.07 -8.43 -0.09 3.04 -29.63
5 15.000 -0.07 -8.43 -0.09 3.04 -29.63
6 16.000 -0.07 -8.43 -0.09 3.04 -29.63
7 17.000 -0.07 -8.43 -0.09 3.04 -29.63
8 18.000 -0.07 -8.43 -0.09 3.04 -29.63
9 19.000 -0.07 -8.43 -0.09 3.04 -29.63
10 20.000 -0.07 -8.43 -0.09 3.04 -29.63
11 21.000 -0.03 -8.43 -0.03 3.04 -29.63
€))
x 10°(mm) x 10*(kN.m/m)
10.0
9.0
8.0
7.0
6.0
5.0
4.0
3.0
2.0
1.0
0.0 G
-1.0
-2.0
-3.0 o
0
0
0
0
0
0
0
0.

1

(m

00 11.00 12.00 13.00 14.00 15.00 16.00 17.00 18.00 19.00 20.00 21.00 22. O(

FORUMS8
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6.1.2 2
@
2
(mm) (kN.m/m) (kN/m)
No
1 11.000 -0.18 -8.00 -0.18 45.49 -28.81 47.05
2 12.000 -0.20 -8.00 -0.20 45.52 -28.70 47.07
3 13.000 -0.22 -8.00 -0.22 45.53 -28.69 47.07
4 14.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
5 15.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
6 16.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
7 17.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
8 18.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
9 19.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
10 20.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
11 21.000 -0.07 -8.00 -0.07 45.53 -28.69 47.07
€))
x 10°(mm) x 10*(kN.m/m) x 10" (kN/m)
10.

S T L e B

-9.

0
0
0
0
0
0
0
0
0
0
.0
0
0
0
0
0
0
0
0
0
0
0.

10.00 11.00 12.00 13.00 14.00 15.00 16.00 17.00 18.00 19.00 20.00 21.00 22. 0(

(m

FORUMS8
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6.1.3 3
@
2
(mm) (kN.m/m) (kN/m)
No
1 11.000 0.18 -12.26 0.18 73.01 -37.84 126.64
2 12.000 -0.07 -11.80 -0.07 71.25 -44.96 123.12
3| 13.000 | -0.27 | -11.75| -0.34| 71.27| -46.76 | 122.81
4 14.000 -0.28 -11.75 -0.39 71.27 -46.78 122.81
5 15.000 -0.28 -11.75 -0.37 71.27 -46.80 122.81
6 16.000 -0.28 -11.75 -0.37 71.27 -46.80 122.81
7| 17.000 | -0.28 | -11.75| -0.37 | 71.27 | -46.80 | 122.81
8 18.000 -0.28 -11.75 -0.37 71.27 -46.80 122.81
9| 19.000 | -0.28 | -11.75| -0.37 | 71.27 | -46.80 | 122.81
10 20.000 -0.28 -11.75 -0.37 71.27 -46.80 122.81
11 21.000 -0.24 -11.75 -0.24 71.27 -46.80 122.81
€))
x 10*(mm) x 10*(kN.m/m) x 10°(kN/m)
10.0
9.0
8.0
7.0 G—
6.0
5.0
4.0
3.0
2.0
1.0 [ — 33—
0.0
-1.0
& ,,,,,,,,,,,,,,
-2.0
-3.0
-4.0 cl
5.0 e
—6. 0
-7.0
-8.0
-9.0
—-10. 0
10.00 11.00 12.00 13.00 14.00 15.00 16.00 17.00 18.00 19.00 20.00 21.00 22. 0(

(m

FORUMS8
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6.1.4

€Y
@

®

(m

(mm) (kN.m/m) (kN/m)
No
1 11.000 -16.05 -2.89 120.89 -38.90 154.79
2| 12.000 -15.05 0.13 | 105.89| -35.11 | 147.85
3 13.000 -14.36 0.13 97.59 -65.45 137.26
4| 14.000 -14.24 -0.35 96.94 | -71.22 | 135.32
5| 15.000 -14.24 -0.54 96.98 | -71.65| 135.27
6| 16.000 -14.24 -0.54 96.97 | -71.67 | 135.27
7| 17.000 -14.24 | -0.53| 96.97 | -71.68 | 135.26
8 18.000 -14.24 -0.52 96.97 -71.68 135.26
9| 19.000 -14.24 | -0.52| 96.97 | -71.68 | 135.26
10 20.000 -14.24 -0.53 96.97 -71.68 135.26
11| 21.000 -14.24 -0.63 96.97 | -71.68 | 135.26
x 10*(mm) x 10°(kN.m/m) x 10°(kN/m)
10.0
9.0
8.0
7.0
6.0
5.0
4.0
3.0
2.0
Lo B—H—g—F  — — — —
0.0
-1.0 B
-2.0  LyeomErE
-3.0
-4.0
-5.0
—6. 0
-7.0
-8.0
-9.0
—-10. 0
10.00 11.00 12.00 13.00 14.00 15.00 16.00 17.00 18.00 19.00 20.00 21.00 22. 0(

FORUMS8
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-9.

6.1.51
@
2
(mm) (kN.m/m) (kN/m)
No
1 11.000 -0.07 -8.43 -0.08 3.04 -29.63
2 12.000 -0.07 -8.43 -0.09 3.04 -29.63
3 13.000 -0.07 -8.43 -0.09 3.04 -29.63
4 14.000 -0.07 -8.43 -0.09 3.04 -29.63
5 15.000 -0.07 -8.43 -0.09 3.04 -29.63
6 16.000 -0.07 -8.43 -0.09 3.04 -29.63
7 17.000 -0.07 -8.43 -0.09 3.04 -29.63
8 18.000 -0.07 -8.43 -0.09 3.04 -29.63
9 19.000 -0.07 -8.43 -0.09 3.04 -29.63
10 20.000 -0.07 -8.43 -0.09 3.04 -29.63
11 21.000 -0.03 -8.43 -0.03 3.04 -29.63
€))
x 10°(mm) x 10*(kN.m/m)
10.0
9.0
8.0
7.0
6.0
5.0
4.0
3.0
2.0
1.0
0.0 G
-1.0
-2.0
-3.0 o
0
0
0
0
0
0
0
0.

1

(m

00 11.00 12.00 13.00 14.00 15.00 16.00 17.00 18.00 19.00 20.00 21.00 22. O(

FORUMS8
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6.1.6 2
@
2
(mm) (kN.m/m) (kN/m)
No
1 11.000 -0.18 -8.00 -0.18 45.49 -28.81 47.05
2 12.000 -0.20 -8.00 -0.20 45.52 -28.70 47.07
3 13.000 -0.22 -8.00 -0.22 45.53 -28.69 47.07
4 14.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
5 15.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
6 16.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
7 17.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
8 18.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
9 19.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
10 20.000 -0.22 -8.00 -0.23 45.53 -28.69 47.07
11 21.000 -0.07 -8.00 -0.07 45.53 -28.69 47.07
€))
x 10°(mm) x 10*(kN.m/m) x 10" (kN/m)
10.

S T L e B

-9.

0
0
0
0
0
0
0
0
0
0
.0
0
0
0
0
0
0
0
0
0
0
0.

10.00 11.00 12.00 13.00 14.00 15.00 16.00 17.00 18.00 19.00 20.00 21.00 22. 0(

(m

FORUMS8
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6.1.7 3
@
2
(mm) (kN.m/m) (kN/m)
No
1 11.000 0.18 -12.26 0.18 73.01 -37.84 126.64
2 12.000 -0.07 -11.80 -0.07 71.25 -44.96 123.12
3| 13.000 | -0.27 | -11.75| -0.34| 71.27| -46.76 | 122.81
4 14.000 -0.28 -11.75 -0.39 71.27 -46.78 122.81
5 15.000 -0.28 -11.75 -0.37 71.27 -46.80 122.81
6 16.000 -0.28 -11.75 -0.37 71.27 -46.80 122.81
7| 17.000 | -0.28 | -11.75| -0.37 | 71.27 | -46.80 | 122.81
8 18.000 -0.28 -11.75 -0.37 71.27 -46.80 122.81
9| 19.000 | -0.28 | -11.75| -0.37 | 71.27 | -46.80 | 122.81
10 20.000 -0.28 -11.75 -0.37 71.27 -46.80 122.81
11 21.000 -0.24 -11.75 -0.24 71.27 -46.80 122.81
€))
x 10*(mm) x 10*(kN.m/m) x 10°(kN/m)
10.0
9.0
8.0
7.0 G—
6.0
5.0
4.0
3.0
2.0
1.0 [ — 33—
0.0
-1.0
& ,,,,,,,,,,,,,,
-2.0
-3.0
-4.0 cl
5.0 e
—6. 0
-7.0
-8.0
-9.0
—-10. 0
10.00 11.00 12.00 13.00 14.00 15.00 16.00 17.00 18.00 19.00 20.00 21.00 22. 0(

(m

FORUMS8
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6.1.8

€Y
@

®

(m

(mm) (kN.m/m) (kN/m)
No
1 11.000 -16.05 -2.89 120.89 -38.90 154.79
2| 12.000 -15.05 0.13 | 105.89| -35.11 | 147.85
3 13.000 -14.36 0.13 97.59 -65.45 137.26
4| 14.000 -14.24 -0.35 96.94 | -71.22 | 135.32
5| 15.000 -14.24 -0.54 96.98 | -71.65| 135.27
6| 16.000 -14.24 -0.54 96.97 | -71.67 | 135.27
7| 17.000 -14.24 | -0.53| 96.97 | -71.68 | 135.26
8 18.000 -14.24 -0.52 96.97 -71.68 135.26
9| 19.000 -14.24 | -0.52| 96.97 | -71.68 | 135.26
10 20.000 -14.24 -0.53 96.97 -71.68 135.26
11| 21.000 -14.24 -0.63 96.97 | -71.68 | 135.26
x 10*(mm) x 10°(kN.m/m) x 10°(kN/m)
10.0
9.0
8.0
7.0
6.0
5.0
4.0
3.0
2.0
Lo B—H—g—F  — — — —
0.0
-1.0 B
-2.0  LyeomErE
-3.0
-4.0
-5.0
—6. 0
-7.0
-8.0
-9.0
—-10. 0
10.00 11.00 12.00 13.00 14.00 15.00 16.00 17.00 18.00 19.00 20.00 21.00 22. 0(

FORUMS8
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6.1.9

€Y
@

®

1

SE MUk ooe N ®

0
0
0
0
0
0
0
0
0
0
0
.0
0
0
0
0
0
0
0
0
0
0.

(mm) (kN.m/m) (kN/m)

No
1 11.000 0.18 -16.05 -2.89 120.89 -38.90 154.79
2 12.000 0.13 -15.05 -0.20 105.89 -44.96 147.85
3 13.000 0.13 -14.36 -0.34 97.59 -65.45 137.26
4 14.000 0.00 -14.24 -0.39 96.94 -71.22 135.32
5 15.000 0.00 -14.24 -0.54 96.98 -71.65 135.27
6 16.000 0.00 -14.24 -0.54 96.97 -71.67 135.27
7 17.000 0.00 -14.24 -0.53 96.97 -71.68 135.26
8 18.000 0.00 -14.24 -0.52 96.97 -71.68 135.26
9 19.000 0.00 -14.24 -0.52 96.97 -71.68 135.26
10 20.000 0.00 -14.24 -0.53 96.97 -71.68 135.26
11 21.000 0.00 -14.24 -0.63 96.97 -71.68 135.26
x 10*(mm) x 10°(kN.m/m) x 10°(kN/m)

10.

]
HH

]
]
]
]

00 11.00 12.00 13.00 14.00 15.00 16.00 17.00 18.00 19.00 20.00 21.00 22. O(
(m

FORUMS8
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